Pillow Blocks / Shaft End Caps Pillow Blocks

Sheet Metal Housing, Flanged Sheet Metal Housing, Standard
Features: Inexpensive Ball Bearing Units with pressed sheet metal housing. Features: Inexpensive Pillow Block Ball Bearing Units with sheet metal housing.
7]
g : B ' s
Y Pillow Blocks — HBTP Pillow Blocks — PBTP £
§- Sheet Metal Housing, Flanged L Sheet Metal Housing, Standard &
Q 1)
[ 2—M I =]
~
g >
= =4
=X Accuracy:JIS B 1558 =
] JiS B 1514 e S
@, o JiS B 1559 Accuracy: JIS B 1558 2
= ‘ Operating Temperature: -15-+100°C JIS B 1514 =
= , = S|z = JiS B 1559 =
- | Operating Temperature: -15-+100°C H
g T - Components Material Tf:arifr:ﬁt atoria Surface é
L] aterial —
E‘ — (1) Housing Low Carbon Steel Black Oxide ficatment s
Q i i 1)
7 L (2) Bearing | 52100 Bearing Steel — (1) Housing Low Carbon Steel Black Oxide a
T Nitrile Rubber (2) Bearing 52100 Bearing Steel —
ON (3) Rubber Seal P — @ Bearing and steel plate are not assembled at itri
- + At (NBR Nitrile Rubber) the time of shipment. Assemble before use. (3) Rubber Seal (NB’\Il%ItII\’IIiIteriIF;ugEgrber) —
@ Bearing and steel metal are shipped unassembled. A (4) SetScrew | 4137 Alloy Steel _ © An angle of 2-M (set screw) is 120°.
m Assemble before use. or Equivalent mm (4) Set Screw 4137 Alloy Steel _
@ An angle of 2-M (set screw) is 120°. or Equivalent
Tl R kgt=Nx0.101972 kgf=Nx0.101972
owable earing Basic - -
Part Number e Load (N) Load Ratings (N) Set Screw Part Number Allowable Load Bearing Basic Load Set Screw
H 5 e N Mass . (N) Ratings (N)
L H A J N A | min. | B S Screws Tightening Axial (0) Mounting 3
Type D Nominal | Radial | Axial | Cr(Dynamic) | Co (Static) M Torque Load Capacity L H A J N H, H, B 3 Screws Tightening Axial M(a:s
(Necm) ) e D Nominal | Radial | Axial | Cr(Dynamic) |Co (Static)| M Torque CaL;:gity g
12 63.5 M6 2650 9550 4800 250 ((kem) ™)
-1 59 81 14— 7 49 22 6 640 240 478
15 63.5 . M6 2650 9550 4800 M5x 0.8 240 12 160
——1 86 222 25 68 44 22 6 2150 830 9550 4800 240 478 ———
HBTP 20 | 67 90 16 | 715 0 56 | 24.7 7 M8 3100 740 12800 6600 250 1280 290 15 95 32 V8 M5 x 0.8 150
| 7 2 18 L & 2l 5 M 3530 200 12000 LEL M6 x 0.75 90 1400 560 PBTP 20 98 254 76 50 24.7 7 2650 1030 12800 6600 250 1280 210
30| 8 | 113 | 18 | 905 | 11 5.2 71 | 303 8 M10 4900 1220 19600 11300 490 1960 560 32
25 108 28.6 86 56 27 7.5 3700 1470 14000 7900 1400 290
11.5 4 M10 M6 x 0.75 490
30 17 333 38 95 66 30.3 8 4400 1670 19600 11300 1960 420
Part Number | Part Number | S Application
/4 Example HBTP12 4 4 Example ﬁ Part Number | PartNumber e\\ Application
ROBAWM P.1318 /| Example PBTP12 / /| Example
RWBMU P.1321
Part Number
Shaft End Caps EDCB - : D, Ds T F d
ype
EDCM
E D c S 10 14 13.4 45
12 16 15.4 5 2 58 .
s & 151 19 | 184 - Mounting Steps
17 2 204 1. Insert the shaft into the bearing and locate it to the predetermined position.
L £ . Egg:l 20| = o 5 56 2. Install sheet metal housings (2 sheet metal) and secure them with screws. (The bearing is fixed after the assembly)
/ 0.1 - - i . .
cos/ | F*8 EDCS 2 —; 3 3. Align the shaft and secure with set screw.
30 37 36.4 8 9
Type Material Surface Treatment PBTP
- 35 42 414 "
EDCB 1045 Carbon Steel Black Oxide 20 = v 10 4 o
EDCM or Equivalent Electroless Nickel Plating
304 Stainless Steel
m EDCS or Equivalent -
& Part Number | PartNumber g_« Application
4 Example EDCB20 4 Example | | Foce

oL
iof

EDCM

=l

1056 @ MiSUMi There’s more on the web: misumiusa.com Check out misumiusa.com for the most current pricing and lead time. 1057



